





















[bookmark: _GoBack]
Part#4
09/27/2017





















Part#4

1. Prepare and print a planned cost budget for the project. Be sure to print the weekly cost estimate for each week. You may add additional columns to the matrix from Part 3 task 4 to produce the budget for the project.   Be sure to document assumptions you make in preparing the cost estimate. Assume a burdened labor rate of $70.75 /hour for the project manager, $90.75 for Teresa, James, and Lee, and $108.75/hour for Matt. Assume about $160.25/hour for outsourced labor.

	Week
	Initiating
	Planning
	Analysis
	Implementation
	Report Performance
	Closing
	 Total
	Cumulative Total

	Week 1
	10000
	 
	 
	 
	 
	 
	10000
	10000

	Week 2
	2400
	 
	 
	 
	 
	 
	2400
	12400

	Week 3
	5520
	 
	 
	 
	 
	 
	5520
	17920

	Week 4
	6160
	 
	 
	 
	 
	 
	6160
	24080

	Week 5
	0
	60420
	 
	 
	 
	 
	60420
	84500

	Week 6
	0
	31420
	500
	 
	 
	 
	31920
	116420

	Week 7
	0
	0
	7300
	 
	 
	 
	7300
	123720

	Week 8
	0
	0
	1700
	 
	 
	 
	1700
	125420

	Week 9
	0
	0
	6900
	 
	 
	 
	6900
	132320

	Week 10
	0
	0
	5440
	 
	 
	 
	5440
	137760

	Week 11
	0
	0
	49440
	 
	 
	 
	49440
	187200

	Week 12
	0
	0
	0
	6000
	 
	 
	6000
	193200

	Week 13
	0
	0
	0
	6000
	 
	 
	6000
	199200

	Week 14
	0
	0
	0
	6000
	 
	 
	6000
	205200

	Week 15
	0
	0
	0
	6000
	 
	 
	6000
	211200

	Week 16
	0
	0
	0
	6000
	 
	 
	6000
	217200

	Week 17
	0
	0
	0
	6000
	 
	 
	6000
	223200

	Week 18
	0
	0
	0
	12000
	 
	 
	12000
	235200

	Week 19
	0
	0
	0
	12000
	 
	 
	12000
	247200

	Week 20
	0
	0
	0
	12000
	 
	 
	12000
	259200

	Week 21
	0
	0
	0
	2400
	1920
	 
	4320
	263520

	Week 22
	0
	0
	0
	0
	5280
	11200
	16480
	280000

	Week 23
	0
	0
	0
	0
	0
	48000
	48000
	328000

	Week 24
	0
	0
	0
	0
	0
	28000
	28000
	356000

	 
	24080
	91840
	71280
	74400
	7200
	87200
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2. What is the BAC for the project?   What is your Planned Value at the end of 4 weeks, 8 weeks, 12 weeks, and 15 weeks?

	 
	BAC

	Week 4
	24080

	Week 8
	125420

	Week 12
	193200

	Week 15
	211200

	Project
	356000

	
	



3. Use the cost estimate you created in task 1.  Assume you have completed three months of the project and have actual data. The BAC was $356,000 for this six-month project. Also assume the following:

PV $356,000
EV $308,120
AC $40000

Using this information, write a short report that answers the following questions.

Given Data
Earned Value = 356,000
Actual Cost = 308,120
Planned Value = 356,000

a. What is the cost variance, schedule variance, cost performance index (CPI), and schedule performance index (SPI) for the project?

Cost Variance = Earned Value – Actual Cost
= $356,000 - $308,120 
= 47,880

It can be seen that the cost variance is negative, the project can be said to be over budgeted.

Cost Performance Index	= (Earned Value) / (Actual Cost)
				=308,120/356,000
				=0.87

The cost performance index being less than 1 indicates that the resources are not optimally utilized.

b. Use the CPI to calculate the estimate at completion (EAC) for this project. Use the SPI to estimate how long it will take to finish this project. Sketch an earned value chart using the above information, including the EAC point.  Write a paragraph explaining what this chart shows.

Schedule Performance Index	= (Earned Value) / (Planned Value)
				=356,000 / 308,120
				=1.16

This being more than one indicates that the efficiency of team members is good.

Estimated actual cost		= (Budget Completion) / (Cost performance index)
				=356,000 / 0.87
				=409,195.54

Estimated cost that is actual and is to be spent on this project is $409,195.54.

c. How is the project doing? Is it ahead of schedule or behind schedule? Is it under budget or over budget? Should you alert your sponsor or other senior management and ask for assistance?

Estimated time to complete	= (6 months) / (Schedule performance Index)
				= (6 months) / 1.13
				= 5.31

Estimated time for completion is 5.31 months.

4. You notice that several of the tasks that involve getting inputs from consultants outside of your own company have cost more and taken longer to complete than planned. You have talked to the consultants several times, but they say they are doing the best they can. You also underestimated travel costs for this project. Write a one-page paper describing corrective action you could take to address these problems.

This is a project with several tasks, subtasks and resources, as it is clearly understood that if multiple resources are engaged, it is a proportionality that these resources have multitude of rational reasoning and along with it they have to move about a lot as these constitute of data and structure that moves the resources in a particular pattern.

It can further be observed that the proportional reasoning behind these variants is illogical and as it tends to be irrational it is highly advisable that the travel times in this particular variant be reduced, as the travel time is reduced, it is natural that the time to complete each and a subset of a task would be easier to achieve. There are a series of corrective actions that are advisable here, furthermore, it is observed that with the sequence of these remedies the proportional time engaged and consumed in traveling is radically reduced, the first of these actions induce the leveling of the resources, as these resources are leveled, it is a natural instinct that the funds would be given priority over the tasks.

The chart used in planning shows that the potential time is taken to complete each part and it also allocates the resources and the predecessors before each cost. It can be said that the chart is a schedule that breaks up the project into several sub activities and these are further broken up. Moving further the activities shown on the chart are accompanied by the time for start and finish and the resources and the personnel, required to complete the activity. It also incorporates the values used up in all the total hours used up. The BAC value in this flow is $24.08k for Initiation, $91.84k for planning, $63.4k for Analysis, $74.4k for implementation, $7.2k for reporting and $87.2k for closing. It can be seen that the total variance in this process is of $348.12k.

The second task in this context is the compilation of similar tasks or the tasks under similar resource into one same group. If this happens, the support can be arranged into one same group that reduces the travel time for it. It is a natural order if the task is requested on an assembly line. Therefore an assembly line arrangement should be the third essential improvement factor, and as it is the primary growth factor, it tends to retain the flow of tasks and arrange it in a manner that reduces the travel times for resources. This is, therefore, a set of three steps that if arranged chronologically can result in a permanent order that would not only drastically reduce the travel time but also increase the efficiency in the flow of items involved.
